JL_

Finding Midpoint Based on Coordinates Name:
Find the midpoint of the set of coordinates. Answers
Ve e A\
( Midpoint Formula The midpoint is at (6&
X1+ Xy YitYe A 1.
2 ., 2
To find the midpoint of the coordinates (4,5) 2.
? and (8,1), plug the values into the midpoint ®
formula . 3
11, 4+8 5+1 )
\ 2, > )|
1)
(4,6)&(5,4) 5.
2) 6.
(8,4)&(10,10)
7.
3)
(6,10)& (0,0)
8.
4)
(0,6)&(1,10) 9.
5
) (0.5)&(6,2) 10
6) 11.
(3.5)&(8,1)
12.
7)
(2,1)&(3,7)
8)
(9.4)&(9,4)
9
(1,1)&(9,10)
10)
(3,3)&(0,6)
11)
(0,0)&(0,0)
12)
(0,8)&(10,7)
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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Finding Midpoint Based on Coordinates Name:. Answer Key
Find the midpoint of the set of coordinates. Answers
/ Midpoint Formula e \
A o, o TTemldp0|nt|sat(6,3). L (4.5’5)
2 2
To find the midpoint of the coordinates (4,5) 2. (9 1 7)
? and (8,1), plug the values into the midpoint ®
formula 631 3 (3,5)
1, 4+8 5+1 )
\_ 2 2 >J|+ _(05,8)
Y (4.6)&(5,4) 4+5,6+4) = (45,5) 5. _ (3,39)
2 2
_ 55,3
D (5 4y (10, 10) (8+_210 4+210 ) = @7 6. ( )
. (25,4
3) 6+0 10+0
(6,10)& (0,0) = (3,5)
) s. _ (9,4
4 O+1 6+10
) (0,6)&(1,10) -2 ) = (05,8 o. (5,55)
? (0.5)&(6,2) °+6,5+2) = (3,35) 0. _(15,45)
2 2
11. (Oio)
2 (3,5)&(8,1) 3+8,5+1) = (55, 3)
2 2
2. (5,75
7)21&37 23 1+7 = (25,4
(2.1)&(3.7) (55 ) = 5.9
8) 9+9 4+4 ~
(9,4)&(9,4) o ) = (9,4)
9) 1+9 1+10 3
(1,1)& (9, 10) 5 5 ) = (5,5.5)
10) 3+0 3+6 B
(3,3)&(0,6) R ) = (15, 4.5)
11) 0+0 0+0 \ _
(0,0)&(0,0) (——— ) = (0,0
12) (0,8)& (10,7) (0+210,8;7) = (5,7.5)
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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Finding Midpoint Based on Coordinates

Name:

Find the midpoint of the set of coordinates.

Answers

Ve e A\
( Midpoint Formula The midpoint is a (63
X1+ Xy YitYe A 1.
2 ., 2
To find the midpoint of the coordinates (4,5) 2.
? and (8,1), plug the values into the midpoint ®
formula. 631 3
11, 4+8 5+1 5
& 2 ., 2 j 4.
1)
(1,7)&(2,2) 5.
2) 6.
(3,4)&(6,4)
7.
3)
(5.8)&(0,4)
8.
4)
(2,1)&(4,2) 9.
5
) (9,2)&(6,6) 10.
6) 11.
(7,.6)&(8,8)
12.
7)
(1,0)&(4,5)
8)
(2,5)&(1,5)
9
(4,4)&(1,7)
10)
(5,7)&(1,1)
11)
(0,6)&(9,4)
12)
(6,7)&(6,5)
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 2 11-12( 8| 0




ﬂh Finding Midpoint Based on Coordinates Name:. Answer Key

Find the midpoint of the set of coordinates. Answers
/ Midpoint Formula e \
A o, o TTemldp0|nt|sat(6,3). L (1.5’4.5)
2 , 2
To find the midpoint of the coordinates (4,5) 2. (4-5 1 4)
? and (8,1), plug the values into the midpoint ®
formula . 3 (2_5 , 6)
Q > 4+8 5+1 )
\_ 2 ., 2 > I+ (3,15
Y amaea (5212 = as.as 5. _(75,4)
_ 75,7
2 (3.4)8(6.4) (3;6,4;4) - @45, 4) 6 )
. (25,25)
3) 5+0 8+4 \ _
(5,8)&(0,4) ( R ) = (25,6) . (15.5
4)21&42 24 1+2 = (3,15
(2.1)&(4,2) (- ) = @.19 0. _(25,55)
 (9.2)&(6.6) (9;6,2;6) - (75, 4) 0. (3,4
1. (45,5
® (7,6)&(8,8) (7;8,6;8) = (75,7)
12. (6a6)
7 1,0)& (4,5 1+4 0%5 = (25,25
(1,0)&(4.5) (5~ ) = (25,259
8) 2+1 5+5 y
(2,5)&(1,5) ( S ) = (15,5)
9 4+1 4+7 ~
(4.4)&(1,7) ( S ) = 25,59
10) 5+1 7+1 B
(5,7)&(1,1) ( R ) = (3,4)
11) 0+9 6+4 \ _
(0,6)&(9,4) ( > ) = (45,5)
12) 6+6 7+5 _
(6,7)&(6,5) ( . ) = (6,6)

1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 2 11-12( 8 | 0




C:h Finding Midpoint Based on Coordinates

Name:
Find the midpoint of the set of coordinates. Answers
Ve e A\
( Midpoint Formula The midpoint is at (6&
X1+ Xy YitYe A 1
2 ., 2
To find the midpoint of the coordinates (4,5) 2.
? and (8,1), plug the values into the midpoint ®
formula . 3
11, 4+8 5+1 )
\_ 2, 2 | 4
1)
(7,10)& (1,8) 5.
2) 6.
(2,10)&(2,9)
7.
3)
(5,4)&(1,7)
8.
4)
(3,0)&(3,10) 9.
5
) (2,10)&(0,4) 10.
6) 11.
(7,7)&(2,10)
12.
7)
(1,6)&(4,8)
8)
(9.7)&(1,5)
9
(2,5)&(1,8)
10)
(0,10)& (6,1)
11)
(9.9)&(0,7)
12)
(5,4)&(2,8)
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 3 11-121 8 | 0
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Finding Midpoint Based on Coordinates Name:. Answer Key
Find the midpoint of the set of coordinates. Answers
/ Midpoint Formula e \
A o, o TTemldp0|nt|sat(6,3). L (4’9)
2 2
To find the midpoint of the coordinates (4,5) 2. (2 ] 9-5)
? and (8,1), plug the values into the midpoint ®
formula . 3 (3,5.5)
1, 4+8 5+1 )
\_ 2 2 > )|« (3,5)
Y (7 10)&(1,8) (7+1 10+8 ) = @9 5. (1,7)
. (45,85
2) (2.10)& (2.9) (2+2 10+9 ) - 2.95) 6. ( )
7. (25,7
3) 5+1 4+7
5,4)& (1,7 , = (3,55
(5,4)&(1,7) (5 ) = 3,59 . (5.6
4 3 30 10
) (3,0)&(3,10) ( M ) = (3,9 9. (1L5,6.5)
) (2,10)& (0,4) (2+O 0+4 ) = (1,7) 0. (3,5.5)
1. (45,8)
2 (7,7)& (2,10) (7+2 7+10 ) = (45,85)
12 (35,6)
7) 1+4 6+8
(1.6)&(4.8) (-~ ) = (25,7)
8) 9+1 7+5 \ _
(9,7)&(1,5) S ) = (5,6)
9)25&18 ﬂ5+8 = (15,65
(2,5)&(1,8) (——— ) = (15,65
10) 0+6 10+1 B
(0,10)& (6,1) B ) = (3,55)
11) 9+0 9+7 \ _
(9,9)&(0,7) (= ) = (45,8)
12) 5+2 4+8 3
(5,4)& (2,8) R ) = (35, 6)
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 3 11112181 0




C:h Finding Midpoint Based on Coordinates

Name:

Find the midpoint of the set of coordinates.

Answers

Ve e A\
( Midpoint Formula The midpoint is a (63
X1+ Xy YitYe A 1.
2 ., 2
To find the midpoint of the coordinates (4,5) 2.
? and (8,1), plug the values into the midpoint ®
formula. 631 3
11, 4+8 5+1 5
& 2 ., 2 j 4.
1)
(8,4)&(8,4) 5.
2) 6.
(4,4)&(0,9)
7.
3)
(7,1)&(7,5)
8.
4)
(2,0)&(2,6) o
5
) (4,8)&(5,1) 10.
6) 11.
(1,7)&(3.,8)
12.
7)
(2,6)&(2,1)
8)
(7,2)&(5,1)
9
(9,8)&(7,4)
10)
(2,9)&(3,5)
11)
(7,1)&(6,1)
12)
(10,2)& (4,1)
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 4 11-12( 8| 0




ﬂh Finding Midpoint Based on Coordinates Name:. Answer Key

Find the midpoint of the set of coordinates. Answers
/ Midpoint Formula e \
A o, o TTemldp0|nt|sat(6,3). L (8,4)
2 , 2
To find the midpoint of the coordinates (4,5) 2. (2 1 6-5)
? and (8,1), plug the values into the midpoint ®
formula 631 3 (7,3)
1, 4+8 5+1 )
g 2, 2 Jls (2.3
1) 8+8 4+4 \ _ 45,45
(8,4)&(8,4) ( > ) = (8,4) 5. ( )
_ 2,75
2 (4,4)&(0,9) (420,4;9) = (2,65) . )
7 (2,3.5)
3) 7+7 1+5 \
(7,1)&(7,5) ( B ) = (7,3 . (6.15)
4) 2+2 0+6
(2,0)&(2,6) (- ) = @3 o (8,6)
P amas (221 < us.ay 0._(25.7)
1. (6.5,1)
Y wnece (250) - e
2. (7,15)
7) 2+2 6+1 B
(2,6)&(2,1) ( R ) = (2,35)
8) 7+52+1 \ _
(7,2)&(5,1) ( S ) = (6,15)
9) 9+7 8+4 \ _
(9,8)&(7,4) ( R ) = (8,6)
10) 2+3 9+5 B
(2,9)&(3,5) ( R ) = (25,7)
11) 7+6 1+1 a
(7,1)&(6,1) ( > ) = (65,1)
12) 10+4 2+1 3
(10,2)& (4,1) ( 5 5 ) = (7,15)

1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 4 11-12( 8 | 0




C:h Finding Midpoint Based on Coordinates

Name:
Find the midpoint of the set of coordinates. Answers
Ve e A\
( Midpoint Formula The midpoint is at (6&
X1+ Xy YitYe A 1.
2 ., 2
To find the midpoint of the coordinates (4,5) 2.
? and (8,1), plug the values into the midpoint ®
formula . 3
11, 4+8 5+1 )
\ 2, > )|
1)
(6,2)&(2,3) 5.
2) 6.
(10,1)&(8,4)
7.
3)
(4,6)&(5,0)
8.
4)
5
) (2,7)8(1,4) 10
6) 11.
(3.2)&(5,1)
12.
7)
(3,1)&(10,7)
8)
(1,2)&(0,6)
9
(2,0)&(7,1)
10)
(5,4)&(0,2)
11)
(2,5)&(6,2)
12)
(5,1)&(9,2)
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 5 11-121 8 | 0




ﬂh Finding Midpoint Based on Coordinates Name:. Answer Key

Find the midpoint of the set of coordinates. Answers
/ Midpoint Formula e \
A o, o TTemldp0|nt|sat(6,3). L (412.5)
2 , 2
To find the midpoint of the coordinates (4,5) 2. (9 1 2-5)
? and (8,1), plug the values into the midpoint ®
formula . 3 (4_5 , 3)
O > 4+8 5+1 )
\_ 2 ., 2 I« (35,4
1) (6.2)8(2.3) 6;2’2;3) - (4.25) 5. (1.5,5.5)
2) 10+8 1+4 \ _ 6. _ (4,19
(10,1)& (8, 4) (T > ) = (9,25) 65 4
7. 9
3)46&50 445 6+0 = (45,3
(’)(!) 2’2)_('1) 8 (05,4)
4) 3+4 8+0
(3.8)&(4,0) (-~ ) = (35,9 0. _(45,05)
¥ (2.7)a(1,4) %,7;4) = (15,55) w0 _ (25,3)
1. (4,35
2 (3,2)&(5,1) 3;5,2;1) = (4,15)
2. (7,15)
7) 3+10 1+7 B
(3,1)&(10,7) ( IR )_ (6.5, 4)
8) 1+0 2+6  _
(1,2)&(0,6) S ) = (05,4)
) 2,0)& (7,1 247 0+1 = (45,05
(2,00&(7,1) (5~~~ ) = 45,05
10) 5+0 4+2 B
(5,4)&(0,2) 5 ) = 25.9)
11) 2+6 5+2 \ _
(2,5)&(6,2) R ) = (4,35)
12) 5+9 1+2 3
(5,1)&(9,2) R ) = (7,15)

1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 5 11-12( 8 | 0
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Finding Midpoint Based on Coordinates Name:
Find the midpoint of the set of coordinates. Answers
Ve e A\
( Midpoint Formula The midpoint is at (6&
X1+ Xy YitYe A 1
2 ., 2
To find the midpoint of the coordinates (4,5) 2.
? and (8,1), plug the values into the midpoint ®
formula . 3
11, 4+8 5+1 )
\_ 2, 2 | 4
1)
(4,10)& (4,1) 5.
2) 6.
(10,6)& (5,9)
7.
3)
(9,10) & (7,0)
8.
4)
5
) (3,9)&(9.3) 10
6) 11.
(2,3)&(4,2)
12.
7)
(5,0)&(8,8)
8)
(1,9)&(2,5)
9
(2,4)&(5,10)
10)
(4,1)&(2,10)
11)
(1,4)&(6,5)
12)
(10,10)&(1,1)
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 11-121 8 | 0




ﬂh Finding Midpoint Based on Coordinates Name:. Answer Key

Find the midpoint of the set of coordinates. Answers
/ Midpoint Formula e \
A ot D TTemldp0|nt|sat(6,3). L (415.5)
2 ., 2
To find the midpoint of the coordinates (4,5) 2. (7-5,7-5)
? and (8,1), plug the values into the midpoint ®
formula. 631 3 (8,5)
1, 4+8 5+1 )
\L 2, 2 >l (3,3)
Y (410)e(a,1y (214 10%1 ) = 4,55 5. __(6,6)
6. (3,25)
2 (10.6)& (5,9) (10+5 6+9 ) = (75,75
7 (6.5, 4)
3) 9+7 10+0
(9,10)& (7,0) ) = (8,5) (15.7)
8. )
Yeneas (21E0) -6 o (35,7
5) (3.9)& (9,3) 3+9 9+3) - 6.6 0. (3,5.5)
1. (35,4.5)
® (2,3)&(4,2) 2+4 342 ) = (3,25)
» (55,5.5)
7 (5.0)8(8.8) (2809%8 =) = 65.9
¥ (1.9)a(2,5) (L29%5 =) = as.7
9) 2+5 4+10
(2,4)&(5,10) ) = (35,7)
0 41ys(2,10) (22110 ) = @.59
11) 1+6 4+5 a
(1,4)& (6,5) > ) = (35,45)
12) (10,10)& (1,1) (10;1,1051) = (55,5.5)

1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 6 11-12( 8 | 0




JL_

Finding Midpoint Based on Coordinates Name:
Find the midpoint of the set of coordinates. Answers
Ve e A\
( Midpoint Formula The midpoint is at (6&
X1+ Xy YitYe A 1.
2 ., 2
To find the midpoint of the coordinates (4,5) 2.
? and (8,1), plug the values into the midpoint ®
formula . 3
11, 4+8 5+1 )
\ 2, > )|
1)
(5,7)&(4,5) >
2) 6.
(2,10)& (2,10)
7.
3)
(1,7)&(6,6)
8.
4)
(10,2)& (4,7) 9.
5
) (5,3)&(7,0) 10.
6) 11.
(3.8)&(0,0)
12.
7)
(1,9)&(3,7)
8)
(8,10)& (6,4)
9
(5,3)&(8,8)
10)
(4,6)&(2,1)
11)
(9.9)&(8,9)
12)
(0,6)&(6,10)
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 11-121 8 | 0
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Finding Midpoint Based on Coordinates Name:. Answer Key
Find the midpoint of the set of coordinates. Answers
/ Midpoint Formula e \
A o, o TTemldp0|nt|sat(6,3). L (4.5,6)
2 2
To find the midpoint of the coordinates (4,5) 2. (2 1 10)
? and (8,1), plug the values into the midpoint ®
formula . 3 (3.5,6.5)
1, 4+8 5+1 )
\_ 2 2 > I« (7,45
Y (5.7)8(4.5) 5+4,7+5) - (45,6 5. _ (6,15
2 2
, 15,4
2 (5 10ya (2,10 2;2’10210) 210 6. _ ( )
) 7. (2,8)
1+6 7+6
1,7)& (6,6 , = (35,65
(1,7)&(6,6) (———— ) = (35,65 . 7.7
4) 10+4 2+7
(10,2)&(4,7) (- ) = (7.49 o. (65,5.5)
5) (5’3)&(710) ﬂ’3+0 ) — (6’15) 10. (3135)
2 2
1. (85,9
® (3,8)&(0,0) 320,820) = (15,4)
12. (3a8)
7) 1+3 9+7  _
(1.9)&(3.7) (- ) = (2,9
8)810&64 8+6 10+4 - (7 7
(8,10)&(6,4) (———— ) = (7.7
9)53&88 SL83+8 = (65,55
(5.3)&(8,8) (——— ) = (65,55
10) 4+2 6+1 B
(4,6)&(2,1) R ) = (3,35
11) 9+8 9+9 \ _
(9,9)&(8,9) (—H—— ) = (85,9)
12) 0+6 6+10 3
(0,6)&(6,10) 5 5 ) = (3,8)
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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C:h Finding Midpoint Based on Coordinates

Name:
Find the midpoint of the set of coordinates. Answers
Ve e A\
( Midpoint Formula The midpoint is at (6&
X1+ Xy YitYe A 1.
2 ., 2
To find the midpoint of the coordinates (4,5) 2.
? and (8,1), plug the values into the midpoint ®
formula . 3
11, 4+8 5+1 )
\_ 2, 2 | 4
1)
(8,6)&(3,10) 5.
2) 6.
(8,7)&(8,5)
7.
3)
(2,5)&(2,6)
8.
4)
(10,7)& (3,0) 9.
5
) (8,10)&(7,3) 10.
6) 11.
(3.7)&(10,0)
12.
7)
(1,6)&(10,3)
8)
(1,1)&(1,9)
9
(3,4)&(7,9)
10)
(1,0)&(2,1)
11)
(4,8)&(10,10)
12)
(2,2)&(3,8)
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 8 11-121 8 | 0
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Finding Midpoint Based on Coordinates Name:. Answer Key
Find the midpoint of the set of coordinates. Answers
/ Midpoint Formula e \
A o, o TTemldp0|nt|sat(6,3). L (5.5,8)
2 2
To find the midpoint of the coordinates (4,5) 2. (8 1 6)
? and (8,1), plug the values into the midpoint ®
formula . 3 (2,5.5)
O > 4+8 5+1 )
\_ 2 2 > J|+ (65,35
1) 8+3 6+10 \ _ 75,65
(8,6)&(3,10) ( 5 ) = (55, 8) 5. _( )
2) 8+8 7+5 \ _ 6. _(6.5,3.5
(8,7)&(8,5) ( T ) = (8,6)
7. (6.5,45)
3) 2+2 5+6
2,5)& (2,6 , = (2,55
(2,5)&(2,6) () = 2,59 . (1.5)
4 10+3 7+0
) (10,7)&(3,0) ( 2+ , ; ) = (65, 3.5) .. (5,6.5)
5) 8+7 10+3 \ _ 0. (1.5,0.5)
(8,10)& (7,3) ( s ) = (7.5, 6.5)
11. (719)
2 (3,7)& (10,0) (3+10,7+0) = (65,35)
2 2
1. (25,95
7) 1+10 6+3 B
(1,6)&(10,3) ( IR ) = (5.5, 4.5)
8) 1+1 1+9
(1,1)&(1,9) S ) = (1,5
9) 3+7 4+9
(3,4)&(7,9) (5= ) = (5,65
10) 1+2 0+1 B
(1,0)&(2,1) R ) = (15,05)
11) (4.8)& (10, 10) (4+210’8+210) - (7.9
12) 2+3 2+8 \ _
(2,2)&(3,8) . ) = (25,5)
[ Math ] www.CommonCoreSheets.com 8 1111102 %82 %3 B ESIB
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Finding Midpoint Based on Coordinates

Name:

Find the midpoint of the set of coordinates.

Answers

Ve e A\
( Midpoint Formula The midpoint is a (63
X1+ Xy YitYe A 1.
2 ., 2
To find the midpoint of the coordinates (4,5) 2.
? and (8,1), plug the values into the midpoint ®
formula. 631 3
11, 4+8 5+1 5
& 2 ., 2 j 4,
1)
(0,0)&(6,3) 5.
2) 6.
(3,1)&(2,3)
7.
3)
(7,9)&(8,5)
8.
4)
(5,0)&(8,8) N
5
) (5,3)&(6,10) 10.
6) 11.
(5,5)&(9,4)
12.
7)
(4,8)&(3,10)
8)
(6,8)&(8,9)
9
(4,5)&(7,10)
10)
(5,0)&(9,8)
11)
(9,9)&(7,10)
12)
(5,5)&(8,7)
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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ﬂh Finding Midpoint Based on Coordinates Name:. Answer Key

Find the midpoint of the set of coordinates. Answers
/ Midpoint Formula L \
A % Yitys TTemldp0|nt|sat(6,3). L (311.5)
2 ., 2
To find the midpoint of the coordinates (4,5) 2. (2-5 1 2)
? and (8,1), plug the values into the midpoint ®
formula. 631 s (75,7
1, 4+8  5+1 o
& 2 ’ 2 y 4. (65,4)
Y (0.0)&(6.3) 0;6,023) - (3,15) 5. _(55,6.9)
, 7,45
2 (3.1)8(2.3) 3;2,1;3) - (25,2) o )
(35,9
3)79&85 7+8 9+5 (75 7 ’
(’)(!) 2’2)_('1) 5 (7185)
4) 5+8 0+8
(5,0)&(8,8) ) = 65.9) o (55,75)
K (5,3)&(6,10) 5;6,3+210) = (55,65) w0 (7.4)
1. (8,9.5)
% (5,5)&(9,4) 5;9,5;4) = (7,45)
12 (6.5,6)
7) 4+3 8+10 \ _
(4,8)&(3,10) B ) = (35,9
8) 6+8 8+9 \
(6,8)&(8,9) S ) = (7,85)
9 4+7 5+10 \ _
(4,5)&(7,10) > T ) = (55,7.5)
10) 5+9 0+8 B
(5,0)&(9,8) R ) = (7,4
11) 9+7 9+10 B
(9,9)&(7,10) ) = (8,99
12) 5+8 5+7 ~
(5,5)&(8,7) R ) = (65, 6)
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Finding Midpoint Based on Coordinates

Name:

Find the midpoint of the set of coordinates.

Answers

Ve e A\
( Midpoint Formula The midpoint is a (63
X1+ Xy YitYe A 1.
2 ., 2
To find the midpoint of the coordinates (4,5) 2.
? and (8,1), plug the values into the midpoint ®
formula. 631 3
11, 4+8 5+1 5
& 2 ., 2 j 4.
1)
(7,8)&(9,1) 5.
2) 6.
(6,8)&(0,10)
7.
3)
(4,10)& (7,5)
8.
4)
(8,4)&(6.8) o
5
) (7,0)&(3,0) 10.
6) 11.
(1,9)&(7,3)
12.
7)
(8,3)&(3,9)
8)
(10,1)& (7,4)
9
(1,5)&(7,0)
10)
(0,0)&(6,8)
11)
(6,0)&(10,4)
12)
(5,6)&(5,8)
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Finding Midpoint Based on Coordinates Name:. Answer Key
Find the midpoint of the set of coordinates. Answers
/ Midpoint Formula e \
A o, o TTemldp0|nt|sat(6,3). L (8,4.5)
2 2
To find the midpoint of the coordinates (4,5) 2. (3 1 9)
? and (8,1), plug the values into the midpoint ®
formula . 3 (5_5’7_5)
1, 4+8 5+1 )
g 2 2 "I+ _ (7.6
1) 7+9 8+1 \ 5,0
(7,8)&(9,1) s ) = 6.49 5. (5,0
. 4,6
2 6 88 (0.10) (50 8+10) 59 6. _ (4,6
. (55,6)
3) 4+7 10+5
4,10)& (7,5 = (55,75
(4,10)&(7,5) ) = ( ) 5. _(85,25)
4) 8+6 4+8
(8,4)&(6,8) ) = (1.9 o (4,25)
5) 7+3 040 \ _ 0. (3,4
(7,0)&(3,0) ) = (6.0
11. (812)
6) (1.9)&(7.3) 1+7’9+3) - 4.6
2 2
12. (5a7)
7) 8+3 3+9 \ _
(8.3)&(3,9) (5 ) = (55, 6)
% (10,1)& (7,4) (102”,1;4) = (85,25)
9)15&70 £5+0 = (4,25
(1,8)&(7,0) (—F——— ) = 4,25
10) 0+6 0+8 B
(0,0)&(6,8) R ) = (3,4
) (6,0)&(10,4) (6+—210,O;4) = (8,2
12) 5+5 6+8 _
(5,6)&(5,8) R ) = (5,7)
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